F10EEAHYT U-8 2017.04.22 EJE

E£¥%B I-rErE

JIL—TA =2HE [it] EvhE K = JIE 3z
2 E 0 0-1 1 0 2
%= [if] 0-1 0-2 3 -3 3
Brhk 1-0 2-0 0 3 1

SI—TB A—452 | FRyE | HWK i ] = JIE 32

qA—4> 1-2 0-5 0 7 +6 3

FRyE|  2-1 0-2 3 3 ~1 2
HWRE 5-0 2-0 6 0 7 1

53-5|1=01F1-Al1F0
8:00 F1REDF—LTERE FE
8:40 F 1-0 = [l =4
9:00 -4 1-2 FRE = ]
9:20 FHE 0-1 el FRyE
9:40 A—4> 0-5 HWwE =&
10:00 i 0-2 Beyh HWwE
10:20 FRyE 0-2 HRE erh
10:40 = [if] 3-0 -4 erh
11:00 F & 5-0 FHR7E HRE
11:20 ErhE 0-1 HRE FE
11:50
B Fwma livi ?l 541 5
#EWH ETRE M FHRyE 64 I—4 >




